SERPAG P30

Electronic Enclosures

5006
5006
R
o
i
5003
5002

PN Description

5007 | P30 Housing

5002 | P24 Handle

5008 | P30 Plate

5004 | P24 Holder

6109 | Threaded Inserts, M4, SL-B-M4-5.8 Notes:

80 | PG-16 Pigtail

6.62
N 1168
//CD C;\
- &
] ] 4.64
| | 117.9]
B [$> B B (:E) B
® | @
¥ D
S &
13.43
341
4
5004
3.94
1100.1]

6036 | Truss Hd, Hi-Lo Screw, #4 x 1/4 are |
6037 | Screw M4 X 10mm 2. Dim’s in Inch/[mm].
6038 | SS Phil Flat Hd Screw, M4 x T0mm

8010 | P24 Gasket

1. Unit is shipped with Handle/Housing gasket installed.
Plate to Housing gasket is user installed.

3. Standard Material is UL94 HB Polyester (Yellow or Black).
4. Watertight enclosure meets or exceeds Nema 4x / IP66.

e —

2.56

65.1] ]

3.51
89.2]

SECTION
SCALE 1

A-A
: 1.5

([

|

3.29

83.6]

ALL DIMENSIONS ARE *.010" 1/12/16

2009 Wright Street, La Verne,Ca. 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Section View A-A
	Drawing View12


